
WALT: Solve money word problems     8.12.21 
A pen costs 2p each. How much do nine pens 
cost? 
 
 
 
 
 
 
 
 
 

A stamp costs 10p each.  
How much do eight stamps cost? 
 

Lollipops costs 5p each. How much do six 
lollipops cost? 
 
 
 
 
 
 
 
 
 
 

Adam spent 44p and 5p on apples. What 
did he pay altogether? 
 

Robert had a 50p coin. He spent 3p. How 
much change did he get? 
 
 
 
 
 
 
 
 
 
 

Biff paid 32p for a yogurt.  
Circle the coins she could use. 
 
 
 

How much altogether is 50p, 10p, 20p, 5p, 
2p and 1p? 
 
 
 
 
 
 
 
 
 

A bag of oranges costs £1.37 
Draw the coins you would need to pay for 
it.  


